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FUNCTIONS AND GRAPHS
Given f(x)=5-x",find f(-2) and f(3)
If g(x)=2x—-1, find x when g(x)=35
x* if x>1

The function f(x)=
S {3x+4 if x<1

Find (a) f(0)

® f4)
(© f(2)
@ 75m
x*+1 if x>2
The function f(x)={2x if —1<x<2
5 if x<-1

Find  f(=3)+f(0)-f(H+f(2)
Given f(x)=x—5x, find
(@ /@)
(b) x when f(x)=6
Sketch 3x -2y -6 =0 on a number plane.
(a) Sketch £ (x) = 2x+3 and f(x)=x" on the same set of axes.

(b) Use your graphs to solve x* =2x+3.
Sketch y = x* + x—2 on a number plane, and state its domain and range.

Find the x — and y —intercepts of the curve y = —x* +6x —8 . Sketch the curve.

Sketch x* +y* = 9. Is this graph a function? Why?

Sketch y = ~/4~x* on a number plane. What is the domain and range?
Sketch f(x)=x>

Draw the graph of y =|x+1| and state its domain and range

What is the domain and range of y = v2x-37?
Sketch g(x) = 3, What is its domain and range?

. 2 _
Find 1M v -4
X—=2  x-2
Is the graph y = il continuous? What is its domain?
x—

Sketch f(x) = 1 .
x

Sketch y = on a number plane.

x+2
Describe the locus of a point that is always 3 units from the origin.
Shade the region where y > 2x—3.
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Shade the region given by x* +y* < 1.
Shade the region where y <x and y <2
Sketch y =x+1 and y = x—3 on the same set of axes.
(a) Shade the region y > x+1.
(b) What inequations would describe the region between the two lines?
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ANSWERS
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Domain all real x. Range y = —22
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This is not a function (vertical line cuts the graph more than once - there is more than one

y value for any x value)
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Domain; -2 <x<2. Range: 2<y<0
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Domain: all real x. Range: y > 0
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Domain: x > 1%. Range: y > 0.
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Domain: all real x. Range: y >0
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17)  No, itis discontinuous at x = 1 Domain is all real x = 1
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20)  Thisis a circle with radius 3 and centre the origin.
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